I=EK
| —
MHCTPYKLWS MO MOHTAXY

N SKCIIJTYATALUN

PRIMER
BJIOK PO3ETOYHbIN

C BbIABMXXHOM KPbILLKOW
6 MOOYNEN

PM.BR51.002.1.MM

Cxema nagenus

Cynnopt

BbiaBwkHas
KpbILUKa

MopgynbHoe 3YU
(B KOMNNEeKT
NOCTaBKN He BXOAMUT,
HOCUT C
WUANIOCTPaTUBHLIN
XxapakTep)

Nuuesas
naHenb

Kopnyc
BbIABWKHOW
KpbILLKM

Khonka Kopo6ka

nnacTukosas

1. Bbipe3 MOHTaXHoOro oTBepcTusa
Cpenatb NPSIMOYronbHbIV BbIpe3 pasMepom
230110 MM Ha BbIOpaHHON NOBEPXHOCTU. ToMLMHA

NOBEPXHOCTU A0MKHA OblTb HE MeHee 15 MMm.

=

2.YcTaHoBKa KOpo6kKu
Wcnonb3ys yeTbipe camopesa M3x20, 3akpenuTb
KOPOOKY K HUXKHEWN YacTn TpebyemMol NOBEPXHOCTH.

3. MopkntoyeHne ka6enbHOro WHypa
YaanuTb 3arnyLuKy U3 oTBepCTUsi KOPOGKM, MPOTAHYTH
CeTeBOM LLHYpP Yepes COOTBETCTBYHOLLIEE OTBEPCTHE.

4. CoepuHeHne NpoBoAoB

4.1 TpoTsHYTb CETEBOW LUHYp Yepes CynmnopT.
MopknounTb NpoBoAa K COOTBETCTBYIOLLMM 3axKnUMaMm
YU (1).

4.2 3awenkHyTb QYU B cynnopT (2).

4.3 YcTaHOBWTb NMLEBYIO NaHemNb B KOPOOKy (3).

5.YcTaHoBKa nuLeBoW naHenu

5.1 Y6egutbcsa B TOM YTO OTBEPCTUSI B KOPOGKe
1 NNLEBOI NaHEenNM TOYHO COBMaAaloT.

5.2 3akpenuTb naHenb ¢ KOPOOKOW, NCMONb3ys ABa
camopesa ¢ nnockown ronoskon M3x40.

5.3 3akpenuTb ceTeBow WHyp U-06pasHbiM 3aKMMoMm
C NOMOLLBI0 AABYX camope3oB M3x5 B HUXKHe YacTu
KOpOBKM.

CeTeBoWt WHYp
3axum kabens
Camope3bl

ANs 3aXuma
kabens

N
AT

6. AkcnnyaTauusa nsgenus

6.1 TMpu HaxaTnm KHOMKW, KpbiLKa ByaeT MeaneHHo
OTKpbIBaTbCA. [ocne NonHOro OTKPbITUS KpbILLkn YN
MO>XHO MOMb30BaTHCS.

6.2 YT0ObI 3aKPbITh KPbILLKY, HAAaBWUTb Ha
NOBEPXHOCTb KPbILLKN C HEGONbLUMM yCUnMem Ao Tex nop
roka OHa NONHOCTbIO He 3aKpPoeTCs.

INSTALLATION AND OPERATION
INSTRUCTION

PRIMER

SOCKET BLOCK

WITH RETRACTABLE COVER
6 MODULES

PM.BR51.002.1.MM

Product diagram

Card frame

Retractable cover

Module

Cover panel

Retractable
enclosure

Press button

Base Box

1. Cut-out opening

Make a rectangular cut-out 230x110 mm on the
desired desk or table surface, desktop thickness should be
more than 15 mm.

2. Base box mounting
Use four M3x20 self-tapping screws to fix the base box
underneath the desk cut-out.

3. Feeding of the power cord
Remove the plug of the hole on the base box, then
feed the power cord through the hole.

4. Wires connection

4.1 Feed the power cord through the card frame, then
connect it to the modules (1).

4.2 After modules are connected with cables, snap
them into the card frame (2).

4.3 Organize the wires and power cord, then mount
the panel assembly into the cut-out (3).

5. Product installation

5.1 Make sure that the holes in the box and the cover
panel match exactly.

5.2 Secure the cover panel with the box using two
M3x40 flat-head screws.

5.3 Secure the power cord at the box bottom with
a U-shaped clip using two M3x5 screws.

6. Operating instructions

6.1 After press the button, cover will open slowly.
When it opens completely, it can be used.

6.2 To close the cover, press it's surface with slight
force until it is completely close

MpousBegeHo: Yxau3sH CnuHo dnekTpo-
TexHukan Ko., NTO

A5 6unguHr, Cynioit Uhgactpuan 30H,
Mowm, KOaumH, YxaussaH, Kutan, 325604
Made by: ZHEJIANG SINO ELECTRO-
TECHNICAL CO., LTD

A5 Building, Sulv Industrial Zone, Liushi,
Yueqing, Zhejiang, China, 325604

N3nanwue / Version 1



